Solution Marks | Total Comments
13 Mi SCA
Fa Al for £
/ \\/ AlF for (7
o | ALF for H
& /fi
adt i )
10| AlF for {
\/W i
14
Route ACE(] Bl
=10 Bl T
Alternative Stage/State
Stage Stale Action Value Total
1 G(1, 1) 177
Hil.2) 1 11 11 Al
2 {2, 1) 1 =847 -1
K2, 2) 1 15
2 14
3 4 4 AIF
M2, 3) 1 16 16
3 B(3. 1) T 7
2 13
3 G 6 AlF
(3. 2) 1 0 0
2 12
3 20
4 A4, 1) 1 11
2 12
3 10 10 AIF
Route ACEGH Bl
10 Bl
Total 7




Q Solution | Marks | Total | Comments
6 (a) 19 + dx =3y°
a”’ﬁ 719 I
28 27°
vv dx -3y +30°
i K 38 37
_ 9'|B \ x+y+30°
|
D
7 4 m‘ I6+t+1
2
Ml SCA
Al ForCor D} (or For (5)
Al ForE
Al 2 values at f (or FJ
Al 2 values at .J jor G)
Min =37 Bl ]
Alternative: working back
K:0 (M1} SCA
=11
J14
H: 2
F: 1% 1l +4x-3y (Al) 2 values at F
G: 23 x+y+ 14 (AL 2 values at G
(AL F or (G comect
E: 26; 19+4x=3y; x+yp+19 (Al) 26 at £
C: 32, 25+4x=3y;, x+y+25
D: 33; 26 +4x=-3y; x+y+26
A: 3 x+y+30; 4x-3y+30 (Bl) (6) Min =37
(b) | dx=3p+30=37 Ml Attempt
x+y+30=37 AlF both correct 4x -3y ==
xty==z
=x=4
y=3 Al 3 or delete FT and (.J then solve
Total 9




Q Solution Marks Total Comments
{a) (330) ®O(630,740) Gl Metwork diagram
Ml SCA
M1 3 pairs after W1
MI 3 after W2
Alx3 at stage 2
{930,
oM,
0201
(3900) Ro(a30630
Route BSF = £900 Blx2 ]
(b) | Min=910 FSR Bl
Extra=£10 Bl # Or using Stage/State method
Alternative
WORKING BACK
(a) i
G MNetwork
(60K 3500 R0 0}
(M) SCA
M) 3 pairs at W1/72
AT 3 values at start
5410, 90H0, 951}
A3 at stage 2
(550, %600 R q2T0)
{BiIx2)
Route RSF =900
(b) (B}
Min 910 (FSR)
({B1)
Extra= £10
Total 11




